C-63

SIG-2
0.00E-01
2.07E-03
4.13E-03
1.03E-02
2.06E-02
3.07E-02
4.06E-02
9.37€E-C2
1.50E-C1
1.84E-01
1083E'01

DT-1
—1086E—09
-1.86E-09
-1.86E-09
-1.86E-C9
-1.85E-09
-1.85E-09
-1l.84E-09
-1.75E-09
-1.50E-09
-8.64E-10
-7.49E-10

N1=4.79525E 1& N2=9.17341E 20 N3=4.79525E 16 N

SIG-2
0.00E-01
3.05E-03
6.10E-03
1.52E-02
3.05E-02
4.5TE-02
6.09E‘02
1.50€-01
2.87E-01
4.92E-01
6 .06E-01

DT-1
-5.54E-09
-5.54E-09
-5.54E-09
-5.54E-09
-5. 54E-09
-5.54E-09
-5- 48E" 09
-5.30E-09
-4, 09E-09
-3, 74E-09

N1=1.82370E 17 N2=8.15135E 20 N3=1.8237CF 17 N

SIG-2
0.00E-01
3.94E-03
7.88E-03
1.97E-02
3.94E-02
5.91E-02
7.88E-02
1.96E-01
3.89€-01
T.4T7E-01
1.05E 00

o

P b pd b b b
s s e
S L N o S S R

[}
calll o fliwve

1
I
o <

OO DO C
£9:0;

!
)

2 30 C9 LoCu 0O O |

T T TIT T [T e
L |

22

o Ul -()?
-1.13E-08
-1.17E-08
-l.16E-08
-1l.11E-08

N1=5.39374E 17 N2=7.22871E 20 N3=5.39374E 17 N

P= 1000.000 T= 70C0.
N1=€.79075E 15
B CN=-TAL SIc-1
O 0.CCE-C1 4.86E-01
500, -5.30E-04 4.86E-0C1
1000. -1.C¢E-C3 4.86E-01
2500 =2.€5E-03 4.85E-C1
5000. =-5.30E-03 4.84E-01
7500, =7.95E-03 4,83E-01
10000. -1.C6E-C2 4.81E-01
25CC0. =-2.€5E-C2 4.58E-01
500C€0. -5.3C0E~-C2 4.ClE-01
1CC000. =-1.CEE-C1 2.96E-01
150000. =-1.59E-C1 2.65E-01
P= 1000.000 T= 8000.
B CM-TAU SIG-1
500. =-4.70E-C4 1.64E 0C
1000. -S.3GE-04 1.64E 00
2500. =2.35E-03 1.64E 00
50C0. -4.7CE-C3 1.€4E OC
75C0. =7.C4E-C2 1.64E 00
100C0. -9.39E-C3 1.64E 00
25000, =-2.35E-02 1.62E 00
500C0. =-4.7CE-C2 1.57E 00
1000C0. =-9.39E-02 1.30F 00
150000, =-1.41E-C1 1.22E 00
P= 1000.000 T= S00QC.
B GM-TAL SIG-1
0. 0.C0E-C1 4.C8E OC
500, =-4.11E-04 4.C8E 00
1000. -8.22E-04 4.C8E 00
2500. =-2.06E-03 4.08E 00
50C0. =-4.11E-C3 4.08E 0C
7500, -6.17E-C3 4.C8E OC
10000. -8.232E-03 4.08E 0C
250C0. -2.C¢E-C2 4.C7E OC
50C00. =-4.l11E-02 4.04E 00
100000. -8.23E-C2 3.75E 0OC
1500C0. -1.23E-01 3.63E 00
= 1000.000 T= 1CCOC.
B CM-TAU SIG-1
Oo OOCOE_GI 8.30E 00
500. =-3.53E-04 8.30E 00
1000. =-7.C6E-C4 8.30E 0C
2500. '1.77E-C3 8030E oc
5000. =-3.53E-C3 B8.30E 00
10000. -7.C6E-03 8.30E 00
28000. =-1.77E-02 8.29E 0C
50600. =-3.52E-C2 8.27E 90
100000, =7.C6E-C2 8.13E 00
150000. -1.06E-C1 B8.01lE 0QC

SI1G-2
0.00E-01
4.85E-C3
9.69E-03
2.42E-02
4.,85E-02
7.27E-02
9.69E-02
2.42E-01
4.83E-01
9.53E-01
1.40E 00

DT-1
-2.30E-08
-2. 30E‘08
-2.30E-08
-2.30E-08
-2.30E-08
-2.30E-08
-2.30E-08
-2.30E-08
-2.29E-08
-2.26E-08
-2.21E-08

—— .

DT-2

0.00E-01
-1.79€E-11
-8.93E-11
-1.33E-10
-1.77E-10
-4,16E-10
-6.94E-10
-8.80E-10
-8.61E-10

DT-2

0.C0E-01
-1.20E-11
-2.40E-11
-5.99E-11
-1.,20E-10
-1.80E-10
-2.39E-10
~5.92E-10
-1.15E-09
-2.03E-09
-2.58E-09

DT-2
0.00E-01
-1.,32E-11
=2.,63E-11
-G 59E~11
-1,32E-1D0
-1.38E-10
-2.54E-19
-0.57E-10
=1, 31E=0J
-2.54E=-09
-3.64E-03

DT-2

0.00E-01
-3.45E-11
-8.61E-11
-1.72E-10
-2.58E-10
-3.45E-10
-8.61E-10
-1.72E-09
-30 40E"09
-5.C0E-09

LAM-1
1.39€e-02
1.39E-02
1.39E-02
1.39E-02
1.39E-02
1.39e-N2
1.39E-02
1.42E-02
1.50E-02
IOSBE‘OZ
1.53E-02

LAM=-1
6G.27%-02
6.27E-02
G.27E-02
6.275-02
6.275-02
G.27E-02
6.27E-02
6.28E-82
6.29E-02
6.305=-02
6.435=-02

LAM-1
2..24E-01
2-2‘?5-01
2.24E-01
2.24E-01
2+24E-01
2.,24E-01
2.24E-01
2.24E-0C1
2.24E-01
2-24E_01
2.23E-01

LAM-1
6.12E-01
6.12E-01
6.12E-01
6.12E-01
6.12E-01
6.12E-01
6.11E-01
6.10E-01
6.09E-01

NTOT=1.05E 21 DEBYE=6.16E-06 LAMBDA=1.N3FE 02 LNLMBD= 4.64
N2=1.04848E 21 N3=8.7G€75E 15 N

LAM=-2
0.00E-01
4.235-06
8 .47E-06
2.12E-05
4+23E-05
6.35F=-05
8.4TE-05
2.12E-04
4.23E-04
8+.41E-04
1.256-03

NTOT=9.17E 2C DEBYE=2.82E-06 LAMBDA=5.4DE 01 LNLMBD= 3,99

LAM=-2
N.0CE-01
2.00E-05
3.99E-05
9.98E-05
2.00E-04
2.99E~-04
3.99E-04
9.97E-04
1.99E-03
3-97F‘03
5.92E-03

NTOT =8.15E 20 DEBYE=1.53E-06 LAMBDA=3.30E 01 LNLMBD= 3.50

LAM=-2
0.00E-01
6.13E-05
1.23E-04
3.07E-04
6.13E-04
9.2CE-04
1.23€E-03
3.06E-03
6. 13E'03
1.22E-02
1.83E-02

NTOT=7.34E 20 DEBYE=9.40E-07 LAMBDA=2.25F 01 LNLMBD= 3.11

LAM-2
0.00E-01
1.35E-04
2.70E-04
6.T6E-04
1.35€-03
2.03E-03
2.T0E-03
6.76E-03
1.35E-02
2.70E-02
4 .04E-02




——

P= 1000.000 T= 11000.

C-64

N1=1.33488E 18 N2=6€.€4557E 20 N3=1.33488E 18 N

B
0.
500.
10C0.
2500.
5000.
75C0.
10000.
25000.
50000.
1CCOCO.
150000.

P= 1000.000 T=

SI1G-2
0.00E-01
5081E—03
1.16E-02
24:91E=-02
5.81E-02
8.T72E-02
1.16E-01
2.91E-01
5.80E-01
1.15E 00
1.72E 00

DT=1
-3.38E-08
-3.38E-08
-3.38E-08
-3.38E-08
-3.38E-08
-3.38E-08
-3.38E-08
-3.38E-08
-3.,37e-08
-3.35E-08
-3.31E-08

N1=2.66GS4E 18 N2=€.05885E 20 N3=2.86994E 18 N

B
C.
500.
1000.
2500.
50C0.
1500.
10CC0.
25000.
50000.
160000,
150000.

P= 1000.000 T=

B
0.
500.
1000.
2500.
5000.
15C0.
100C0.
25000,
50000.
100000.
1500C0.

P= 1000.000 T= 14C00.

B
0.
500.
1090.
25Q0.
50C0.
75C0.
100C0.
2£000.
500C0.
100000.
150000.

CM-TAU SIG-1
0.00E-C1 1.43E O
-2.96E-04 1.19F 01
-5.,S2E-04 1.40F 91
-1.48€-C2 1,49t 01
-2.9€E-03 1.49F 01
-4.44E-C3 1.49E 01
-5.92E-03 1.439E 01
-1.48E-C2 1.u49E 91
-2.S€6E-C2 1.43E 01
_SOQZE-CZ 1049E 01
-8.,88E=02 1l.48E 01
12000.

CM-TAU $1G=1
0.0CE=-C1 2.45E 01
-2.44E-C4 2.45E 01
-4.88E=-C4 2.45E 01
-1.22E-03 2.45E 01
-2.44E-03 Z.45E 01
-3.66E-03 2.45E 01
-4.,88E-C3 2.45E 01
-1.22E-C02 2.45E 01
-2.44E-02 2.45E 01
-4,88E-C2 2.45E 01
-T.32E-C2 2.44E 01

CM-TAU

OOCOE-OI
-2.00E~-C4
-4 ,01E-C4
-1.C0E-C3
-2.00E-C3
‘3001E-03
-4.C1E-C3
-1.CCE-02
-2.00E-02
-4 ,01E-02
-6.01E-02

CM-TAU

0.00E-01
~-1.€64E-C4
-3,28E-C4
-8+.21E-C4
-IQGQE-OB
-2.46E-03
-3.,28E-03
-8.21E-03
-10645-02
-3,28E-02
-4,93E-C2

13000.

SIG-1
3.71E
3.71E
3.71E
3.TLlE
3.71E
3.71E
3,71E
3.71E
3.71E
3.T1E
3.70CE

SIG-1
5+29E
5.29E
5.29E
5.29E
5.26E
5.29E
5.29E
5.29E
5.29E
5.28E
5.28E

01
01
01
01
01
o1
01
01
01
01
01

01
01
01
01
ol
01
01
0l
01
01
01

SIG=2
0.00E-O1
6.73E-03
1.35E =02
3 oo E-DE
G lBE=02
1.01E=01
1T a5bES0L
3557 =01
6.72E=-01
150 E 30
2.00E 00

SIG-2
0.00E-01
7.98E-03
1.60E-02
3.99E-02
70985-02
1.20E-01
1.60E-01
3.99E'01
Ts9lE=0L
1.59E 00
2.38E 00

S1G-2
0.,00E-01
9.20E-03
1.84E-02
4 ,60E-02
9.20E-02
1.38E-01
1.84E-01
4.,60E-01
9.20E-01
1.84E 00
2.75E 00

DT-1
-4.,00E-08
-4,00E-08
-4,00E-08
-4.00E-08
-4,00E-08
-4,00E-08
-4, 00E-08
-4,00E-08
-4.00E-08
-3.98E-08
-3.96E-08

DYl
-3.,76E-08
-3-76E_°8
-3, T6E-08
-3.76E-08
-3, T76E-08
-3.76E-08
-3, 76E-08
-3.76E-08
-3. T6E-08
-3,75E-08
-3.T74E-08

DT-1
-2.05E-08
-2.05E-08
-2.05E-08
-2.05E-08
-2.05E-08
-2.05E-08
-2.05E-08
-2.05E-08
-2.,05E-08
-2.04E-08
-2.04E-08

Dilig 2
0.00E-01
-1.80E-11
-3.60E-11
-1.80E-10
-2.70E-10
=3+60E-10
-9.00E-10
-1.80E-09
-3.58E-09
-5.32£=09

DT-2
0.C0E-01
=1saTE=11
-3« 1L5E=11
-7.87E-11
-1.57E-10
-2.36E-10
-3.15E-10
=T« 87E=10
=1sH1E=09
-3.14E-09
-4,68E-09

DIz2

0.00E-01
-1.13E-11
-2.26E-11
-1.13E-10
-1.70E-10
-2.,26E-10
‘5-66E_10
-1.13E-09
-2.26E-09
-3.38E-09

DT-2

0.C0E-01
-4064E-12
-9.2TE-12
-2+32E-11
-4.,64E-11
-6+,95E-11
-9.27E-11
-2.32E-10
—40635-10
‘9026E-10
=1+39E=0/9

LAM-1
1.35E
1.35E
1+35E
el
1.35E
1.35E
1.35E
1.35E
1.35E
1.35E
1335E

NTOT=6.12E 20 DEBYE=4.46E-07 LAMBDA=1.28E Ol

LAM-1
2.58E
2.58E
2.58E
2.58E
2.58E
2.58E
2.58E
2.58E
2.58E
2.58E
2.58E

NTOT=5.65E 20 DEBYE=3.36E-07 LAMBDA=1.05E 01
N1=5.48960E 18 N2=5.53597E 20 N3=5.48960E 18 N4=6.88768E 11 N

LAM-1
4.41E
4.41F
4,41E
4 o 41E
4.41E
4.41E
4o41E
4.41E
4e41E
4«41E
4:41E

NTOT=5.24E 2C DEBYE=2.63E-07 LAMBDA=8.81E 00
N1=S.6412€E 18 N2=5.04967E 20 N3=9.64127E 18 N4=5.55432E 12 N

LAM-1
T.02E
T.02E
7.02E
7.02E
T.02E
7.02E
T.02E
7.02E
7.02E
T.02E
T.02E

NTOT=6.67E 2C DEBYE=6.26E-07 LAMBDA=1.65E C1 LNLMBD= 2.80

LAM=-2
0=00E=01
2.35E-04
4.69E-24
1.17E-03
2435E-03
3.52F-03
4.69E-03
l.17E-02
2'335E=072
4 ,69E-02
T «02E=02

LNLMBD= 2.55

LAM=-2
0.00E-01
3.50E-04
7.01lE-04
1.75E=03
3.50F-03
5.26E-03
7.01E-03
1.75E-02
3.,5NE-02
7.00E-02
1.05€-01

LNLMBD= 2.35

00
00
00
00
00
090
00
00
00
(e1¢]
09

LAM-2
0.00€E-01
4. T8E-04
9.56E-04
2.39E-03
4.78E-03
7.17E-03
2.39E-02
4.78E-02
9.56E-02

LNLMBD= 2.18

00
00
00
00
00
00
00
00
00
00
00

LAM-2
0.00E-01
6.23E-04
1.256-03
3.12E-03
6,23E=03
9.35E-03
1.25E-02
3.12€E-02
6.23E-02
1,256-01
1.87E-01
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